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= 78,539
== 79,608
Al 2,171,140
EINEEEPIE 1,219,529 599,565 619,964
= 78,539
< 39,795
Al 1,101,195
SAIZEIH = 851,860 322,900 528,960
SAIZeHE (HY]) B8 84 400,000 0 400,000
401 AIZHIYL S OHE 400,000 0 400,000
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01 AlZ8| 200,000 200,000
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OMaiFdEe B9 115,000
= 20,000
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= 39,795
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= 9,260
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= 16,000
Al 16,000
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01 At2teltl 9,758 93,344 3,414
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= 43,771
Al 43,771
OINESAIXIIOE ZAE- &S S20 A 9,216
= 4,608
Al 4,608
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SAICIXIR! ofattlnl 24 34,000 14,000 20,000
201 er23 | 34,000 14,000 20,000
01 At2teltl 34,000 14,000 20,000
O AILIARD OBHHID] Atz W= 34,000
Al S2AHE W =8 89 200,000 200,000
207 ARl 200,000 200,000
01 Sl 200,000 200,000
OXFAl JZHE MEHl =& 849 200,000
T2t 381,821 413,065 A31,244
= 39,813
Al 342,008
28 Fadd 381,821 413,065 A31,244
= 39,813
Al 342,008
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201 Ler=23| 26,300 44,336 A18,036
01 At2teltl 20,000 20,000 0
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401 Al HIZL 201 70,000 130,000 260,000
01 Al&H| 70,000 130,000 60,000
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= 1,257
Al 2,933
401 Al HIZ S OHbI 4,190 3,000 1,190
s 1,257
Al 2,933
01 Al&HI 4,190 3,000 1,190
o= 8esE &X 4,190
< 1,257
Al 2,933
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= 13,000
Al 52,000
401 AlZHIZ S 0HbI 65,000 100,000 /35,000
= 13,000
Al 52,000
01 A28l 65,000 100,000 /35,000
OFATEEANE &5 65,000
s 13,000
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FAFEAE |RA22] A 95,000 100,000 25,000
& 19,000
Al 76,000
401 Al HIZL 201 95,000 100,000 25,000
= 19,000
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= 19,000
Al 76,000
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Al 16,297
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201 er2 3| 54,056 29,824 24,232
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Odgt+=d| 29,000
O= gl 25,056
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